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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10
TS FACRE R e w R Aot Pk Teg fors

(a) State whether ¢ (sigma) is a population
parameter or statistic.
o (sigma) B 2%t 7 efomfa I <47 |
(b) What is coefficient of variation?

P 728 5 2

(c) Define equally likely cases.
TP SO 7] iy |
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(@)

(e)

(g)

(h)

(i)

0

A23/180

(2)

If A and B are two independent events,
P(Av B) = P(A) + P(B) - P(A n B).

(Write True or False)
ﬂﬁAWB@I’SGEﬂW@, COTR T
P(AU B) = P(4) + P(B) - P(A B),

(¥= 1 <Ry forsn)

What is  meant by

gy o probabili
d1stnbqun of a random v 4

ariable?

Wwwﬁwaﬁm%m?

What is the difference between the

valfiances of Binomial distribution and
Poisson distribution?

fa*m S =15 qrq SRS #1245 o

What is
distribution?

20e e 35 s 9

Define purposive sampling
ST 2o oy fira |

Mention two
sampling.

Wﬁwgﬁ%wwl

If r =

marginal probability

methods of random

0-9, interpret the resylt

r=0-9®,mwﬁim? s

( Continued )

(k)

@

m)

n

)

@

A23/180

(3)

What is the relation between mean,
median and mode?

51, LI HF I TP 192

Define conditional probability.

T ST < fordm |
2
E(X)==—
RIS
(Write True or False)
fx
E e
(X) 5
(% 1 Sram ford)
Write the probability distribution

function of Poisson distribution.

“faib 957 Rl I T o |

If two values of a variable in a series are
equal, how is the rank determined?
Tt @Bl TR 5 1 AW 0P W (IR A
TR G @ FdRe 39139 7

What is scatter diagram?

g foa 5 2

Define covariance.

STREPRER gl |
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()

fee

Show that E(¢) = ¢, where cis a constant.

ST A E(d) = ¢, TS ¢ 37 b 595 |

(e)

(5)

Write two demerits of systematic
sampling.

Nafrs oifenaea Yor Srifee for |
Answer any five of the foIlowing questions :
O R RICA o8t 2 T ey - 2x5=10 () Distinguish between linear and
(@) Distihauish " non-linear correlation.
sunguish between arithmet
and harmonic mean, metic mean e we T T TS A9 o |
(b) If s (g) If the first quartile (Q;) =30 and third
dlu? Ve.alues of a variable of 5 Series Ae quartile (Q5)=35, find coefficient of
:;;;mlletd by a constant, what wwill quartile deviation.
en to stand i
It Or vereg W:Zﬁd;;aum? At o veier (@) =30 =¥ wor vediet
AT o[ - (SR T TeieT TRl Tfered |
I, =g 3l (Q3) =35, o
(C) Undel" Wh . . .
i evaat 8 conditiong ; ; (h) Write two properties of Poisson
disebRnOr s By momial distribution.
distribution? Poisson o
@ﬂqﬁm 70 9 |
BkIIE '{gb—f? S e DT ofgh IGee]
i) Mention two variables whose correlation
(d) A card is drawn fro coefficient is zero.
suffled pack of M a pack of well
probability thay ; cards. What is the 9Ce {o! BFF SCEY 91 AR NI A RN
spade? 1S either g king or a FI |
BT O copzg
(SR % 75 3 9T ST5ire Gy T, () What is moment?
TP 9 I e e 2
A23/180
A23/180 ( Turn Over )

( Continued)




(6)

3. Answer any four of the following questions :

5x4=20
@od & I B! e Tew e

(@) Show that standard deviation is

independent of change of origin but not
of scale.

Cﬁ@ﬂwm‘.ﬁoﬁmwﬂ

(b)

There are 3 economists, 4 engineers and
2 statisticians. If 3 persons are chosen
at rand.om for formation of 5 committee
What s the probability that in thf;
committee there will be

() one from each profession;

(i) 2 €conomists and 1 Statistician:

{iii) all engj
gineers? 0+0+1=5

f{ﬁj‘?w 2 ’4WWW2W
A T3 & @ @b RS s
2’9 | AfAfse_ Ball

(W) 2 = SRRy e
e ;
IR R 9 Afprremian
(ii) 3 TR Sy e il
Rifrer ?
A23/180 i
( Continued )

(c)

(7))

Prove that
E(aX % bY) = aE(X) £ bE(Y)

oI 991 @, B(aX £ bY) = aB(X) £ E(Y).

(@)

(e)

Player

ceq

A
B

A23/180

What is skewness? Determine Karl
Pearson’s skewness from the following :

Size 8 Mgl ‘opagl g 5
Frequency : 12 8 ZORTER] S
Srfeor 7 @o[qd ORI *[1 1 FIetas

Sl Tened! |

Describe briefly different steps involved
in sample survey.

sfom{ SErEE e wive [t TR YF
el 40

In a S5-match one-day international
series involving India, two veteran
batsmen made the following scores :

OES WM (AT i SRR MR ¢ 4

(4TS B T (@O AR A RN OO
T «=e9

Score
Eiz
1stODI 2nd ODI 3rd ODI 4th ODI 5th ODI
65 120 15 95 25
46 69 80 65 45

( Turn Over )




(9)

A23/180

(8)

Identify the better batsman and more
consistent batsman in the series.

RIS CFREA @ Bocas @R ©E e
TS O e ooy <7 |

Income of a group of 10000 persons
erre found to be normally distributed
with mean ¥ 520 and stand

‘ ard deviati
is ¥60. Find— b

(i) f;he number of persons having
Income between 400 and &550.

(i) the lowest income of richest 500
For a standard norma variate z, the area
under the curve between z=q and
z=0-5is0-1915, the area between z = 0

and z=1-645 ig 0-4500 and the area
between t =0 and t=2is 0-47725.

10000 T3 w1 Rewe e froqerq RILIES

W’wwszot‘wwmﬁm
CH{IT 7Y | il

{i) f‘%mmwww 400 5
e S 550

Soge

S 1 g f%ﬁﬂ:l
P0<z<0-5=0.19;5 ol
P(Oszsl-645)=0-45;)0 Rt

P(OSZSQ)=0.47725

( Continued )

4. Answer any four of the following questions :

(9)

10x4=40

oo R G e 2 T fo

(a) Why is arithmetic mean known as ideal

(b)

average? State and prove the properties
of arithmetic mean. 2+8=10

e owe fm ol T I T W2
M %3 (AFEPRR T& WF AT

Show that AM >=GM =HM. Calculate
mean and standard deviation from the
following table : 6+4=10

Gi{edq @ AM 2GM >HM. ©o[ SleeR °[l

G [P T f0E Sl ¢
(el 0-9 10-19 20-29 30-39
cTT S
Frequency : 25 39 23 14
CIES IS
(c) State and prove addition theorem of
probability when the cases are mutually
exclusive. From a bag containing 4
white and 6 red balls, 3 balls are drawn
at random.
(i) Find the expected number of white
balls drawn.
(i) Find the expectation of drawing at
least 1 red ball. 4+3+3=10
A23/180 ( Turn Over )
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(el

A23/180

(10 )

;E;qu (&30 & RG] i e Eﬂ# AT 4 T
RRIRIES 6%[?@1?6%[331@%?,3]

() 3N T TR oS eromp Sfereay |

(i) FACTS 157 e
T CIRE SR
Sferer | o SR

D-erive the mean an i
g;:o;?ial dist::ibution. gn v:nn a:\(f::raOf
i IF};;;)tpjula‘mon in an area suffer froi?
s Cl;. the probability that out of 5
e OSeén at random from th;j

; ast 2 persons suffer from TB;S

6+4=10

f
T IRONR 6 R 2 S 1 s Sz

TS RO 2% s T
q
R ﬁézﬁ;ag

R FIMCHS 2

it
istinguish between sampling e
- 1 I-r
non-sampling error. “Sample 15
advantageous than P
enumeration.” Explain -
AfSvy S AF eifeny

fer=i | “WWWWW

T omrets v

( Continued )

(11)

() Write short notes on stratified sampling
and purposive sampling. 5+5=10
SAge offesT A SrwiAT Afer eSS
9 COrl fern |

(g9 What are the underlying assumptions of

Karl Pearson’s correlation coefficient?
Find Karl Pearson’s correlation
coefficient from the following :

ol Pt e RN wEfize
SfeaEePER @R ol iR Rl
Pt ST T2l Sl : :

Age of husband o3 30 35 28 4l 45 53

1 7
Age of wife
G
Interpret the result.

Fo(pe QU 40!

State and prove the properties of
correlation coefficient.

Wﬂﬂhﬁmm@w o1 41

roperties of normal

01 23 28 27 35 34 43

10

(h)
10

Explain the main P
distribution.
s 3 T4 CAPIBRTR SCEeeT 40

stribution, mean

1) :
0

Show that in Poisson di
is equal to variance.
o1l 1 Y <D A5 P SIE LT 2 |
* * *
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